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QUESTION 1

An A700s system failed to boot. The administrator finds the boot image has been corrupted. 

In this scenario, which two actions would be performed to restore the image? (Choose two.) 

A. Copy the image from an external USB drive. 

B. Copy the image from the partner. 

C. Replace the boot device. 

D. Copy the image from a Web server using the netboot procedure. 

Correct Answer: AB 

 

QUESTION 2

After replacing a failed disk, the disk does not appear as a spare on any node in the cluster. 

What should be done to correct this problem? 

A. Physically remove the disk and re-seat it firmly in the storage bay. 

B. Physically remove and re-seat each IOM in the shelf, one at a time. 

C. Assign ownership of the replaced disk to a node. 

D. Add the disk into an aggregate on either node. 

Correct Answer: C 

 

QUESTION 3

A customer created a new volume on an SVM for testing. During the first day of testing, the customer copied data to the
volume using NFS and consumed 75% of the free space. The second day of testing required the existing data to be
deleted and replaced by an equal amount of different data. During the copy, an error message stated that the volume
was full. 

What would explain the observed error? 

A. The user did not have permissions to the export. 

B. The client lost connectivity to the export. 

C. Vscan stopped the write due to an infection. 

D. The old data is still contained within a snapshot. 

Correct Answer: B 
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QUESTION 4

Click the exhibit button. 

Based on the QoS output from the storage controller, your database administrator is complaining of slow read and write
performance. 

Referring to the exhibit, what would be two appropriate actions to improve performance for both reads and writes?
(Choose two.) 

A. Move the workload to an SSD aggregate. 

B. Apply a QoS maximum policy to the csdata-wid1234 workload. 

C. Add a Flash Pool to the existing aggregate. 

D. Upgrade the controller\\'s NVRAM. 

Correct Answer: BC 

 

QUESTION 5

You are provisioning a LUN for a server running Windows Server 2016. 

In this scenario, which ONTAP LUN OS type should you use? 

A. hyper_v 

B. windows 

C. windows_2008 

D. windows_gpt 

Correct Answer: B 

Reference: https://thinksystem.lenovofiles.com/help/topic/san_administration_guide/M_DDA6B457-854443AC-92E8-D8
46A0BA7671_.pdf (22) 
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